Quiz 5 Solution

Tuesday, September 24, 2013 3:50 PM
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() The chonnel is symmchric. Se
C= loﬁl\ SY\ - H(l_f_) :lO3LZ’ HLC% %])

¥4-0919%% = 0.081%.

(%) The channel is symmetric. $o
c=log. Isyl-nlr) =log,3-n((% 5 %)
¥ 0.1258.
() Note that the rows of O ove all the same.
Se, HIYle) =R[[¥s Yo Y1) for any x.
Therefore,  HUTIX) = ZproRlNe) =H (1% £ 11) 21251

Next, vote that Cov onry I:L;c) , we Vave
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for all ec.
So, FILY) = H(Ylxe) o well.
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T(x;Y) =HW) - AYIX) =0 For any p.

Remark . We caun alse conclude ‘Flom ogly) ‘-G.Ly[of.) et XY,
This also {mplies T (%,Y) =0.

C= mgx I(_x;*() =0,

(J) Note Yhat this is a nois/ channel wWith won ovcr\a“vir\j ou‘\‘fw‘\'s.

so, ¢ =log,|sx]=loq, 3 x 15850,
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